MISSING NUMBER

KS1 - 2001 Paper
1.

5

KS1 —-2003 Paper 1

2.

KS1 —-2004 Paper 2

3.

KS1 —2009 Paper 1

5.

[8]+[46]=]54]

[ee]+ |8 [=[54]

[se]-[8[=]4e]

[s4]-[e6]=]¢ |

KS1 - 2016 Paper - Reasoning

6.



10 | Pattern completed as shown: im Both numbers must be correct for the
— award of the mark.
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KS1—-2017 Paper — Reasoning
7.
15 I Both numbers correct as shown: im Both numbers must be correct for the
award of the mark.
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23 | Calculation completed correctly as shown: r im

+7-[]-1

KS1 - 2018 Paper — Reasoning

0.




28 | 13 written in both boxes as shown: im The comrect number must be written in
both boxes for the award of the mark.

13 13

10.

31 | Mumber sentence completad as shown: im Refer to general marking principle 8 on
page 7.
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KS1 - 2019 Paper — Reasoning

11.

Qu. | Requiremeant | Mark | Additional guidance

12 | Number sequence completed as shown: im All three numbers must be correct and in

the order shown for the award of the mark.
10 8 &
KS1 — 2022 Paper — Reasoning
12.
14 | Award TWO marks for number patterns 2m

completed as shown:

10
15
o0 v | on
25|
15 18‘21’24 2730

—_—

Award ONE mark for any two correct 1m
numbers.




13.

3

Award TWO marks for both numbers correct
as shown:

‘20\ 70

4‘ ‘107

Award ONE mark for one number correct.
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